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IE=g 24,600
- B X 30,0003 +35E 12 12,600
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05 BI”tRE 3 1,800 1,680 120
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ORE AP 20HE 5HLY)
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Osolc Q& (Z2=) 7Y 100,008 <492 4,900
OsASLE(BM=9| 43) 1,000
12 DBt 42 27,600 27,600 0
OSHE ot NV (BALY)
1,200,00020 2304 S01S 27,600
307 2I12H0| 480 480 0
05 BIZtPIEr2 480 480 0
OFJIGF B2 he 40,0002 128 480
405 X442 S| 1,100 1,100 0
01 ML SEH S| 1,100 1,100 0
OLse e 80,0001 * 10JH 800
ozsg 3 50,0002 +20H 300
2ot Y 22,500 282,500 260,000
301 YEE A3 2,500 4,500 A2,000
EPIEEE! 2,500 2,500 0
OZII=TY HAAE 243
50,0002 52 103! 2,500
401 Al & HI L 2 THY| 20,000 20,000 A100,000
01 Al&t] 20,000 120,000 100,000
OAZol BE o220 BAIR & 20,000
oo HX Z2IY 29 6,000 3,125 £29,125
201 YEr2gy| 6,000 13,000 A7,000
01 At 22l 6,000 3,000 3,000
o= 84X 432 2% 3,000
O=oo 4% ME Z2I 29 X 3,000
2120y A5 20,000 0 20,000
207 AR 20,000 0 20,000
NEEEET] 20,000 0 20,000
O&X - &2 HLse (=, =3) 20,000
S5 BEMS 2,843,558 4,752,863 ~1,909,305
2 1,188,553
= 798, 180
B Al 856,825
SESHN 2EF| 2,741,158 4,650,463 ~1,909,305
2 1,188,553
& 757,620
Al 794,985
2INE S8 B 1,464,000 3,058,000 A1,594,000
2 1,024,800




2AM: S22
M. 2o BEE=dS
942 SESIFM E=F| CEREED
_ _ bR =
SM-BH-H2A(FAH) - MIRAY - BES Ol & '@Eg_'\ﬁ HusZ
T 219,600
Al 219,600
401 AlEHIZL 2 0HYI 1,464,000 2,958,000 A 1,494,000
= 1,024,800
o= 219,600
Al 219,600
01 Al&H] 1,460,400 2,958,000 1,497,600
OAlAAN SUALE BHA 2= 400,000
= 280,000
== 60,000
Al 60,000
OAAMA AIFSEE HAZ 100,000
= 70,000
T 15,000
Al 15,000
Oogdsd 52 & 100,000
= 70,000
< 15,000
Al 15,000
O&AAL A ASAHE &8 U SEA B4 200,000
= 140,000
& 30,000
Al 30,000
OAH IO e &t & BEE=X 2l 50,000
= 35,000
= 7,500
Al 7,500
OMgLX OtHEaz PRUAMAHAPPANMS 100,000
= 70,000
o= 15,000
Al 15,000
OQ=EAL EXOY L &2XA
500,000, 000& *99.28% 496,400
= 350,000
== 75,000
Al 71,400
O&Jlel LElus 22 9,000
= 6,300
& 1,350
Al 1,350
OXlelat #ds 22| 5,000
= 3,500
= 750
Al 750
03 Al & 2C0HHI 3,600 0 3,600
OQF=2AX EXOHY L &2 XA
500,000,000 *0.72% 3,600
SXNEHESMH E+3Y| 1,000,502 1,050,000 AN49,498
o= 500,250
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207 1PN ELHI 80,000 0 80,000
= 40,000
Al 40,000
01 g 80,000 0 80,000
OREMEEZHEYINE 22 B 60,000
= 30,000
Al 30,000
Ox&2 122 FUNEZA 20,000
= 10,000
Al 10,000
401 Al E 612 20| 920,502 1,050,000 ~129,498
= 460,250
Al 460,252
01 Al&H] 911,846 1,041,792 A 129,946
OLRRYR ©F, Hs L 28 24
125,000, 0002 *99. 26% 124,100
= 62,500
Al 61,600
O o8 L FHFHIBA
100,000, 000239, 10% 99, 100
= 50,000
Al 49,100
S ER I EREESIEY
12,500,000 *98.92% 12,365
= 6,250
Al 6,115
OPEAL =HFHIBA  50,000,0002%98.92% 49,460
= 25,000
Al 24,460
OBYA ANZEHE U ZHTHZA
65,000, 00024 %99, 10% 64,415
= 32,500
Al 31,915
OB ASME ZHEY (482 S8 L =
SRy 24,000, 0002 ¥98.92% 23,741
= 12,000
Al 11,741
Oxlztg g B4 100,000, 0002 *99. 10% 99, 100
= 50,000
Al 49,100
Ow=el 2243 =Y
14,000,0002* 98.92% 13,849
= 7,000
Al 6,849
OBMYLAETH SES4  40,000,0002#98.92% 39,568
= 20,000
Al 19,568




A Sot2t2
B 2ol RENS
@2l SE=Zs M EEE|
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
O SUYMSHA ZUEH (FEX U S2ACHE
) 50,000, 000& *98.92% 49,460
L= 25,000
Al 24,460
OS2ME It & HSHE =
20,000,000& * 98.92% 19,784
& 10,000
Al 9,784
OUSYMSTA FUFHI(E2ANE)
80,000,000& *99.10% 79,280
= 40,000
Al 39,280
OLRASD FUYASZDN A4
50,000, 000& *98.92% 49,460
= 25,000
Al 24,460
OEXlel=ot 3ZA=EEIN &y
50,000,000& *98.92% 49,460
= 25,000
Al 24,460
OHAZNYNEI HLASBIN KA
60,000,000& *99. 10% 59,460
= 30,000
Al 29,460
OUADSR FULSBIN X4
60,000,000& *99. 10% 59,460
= 30,000
Al 29,460
OHSNUHEN (S22 EoH0lTloh ol
ted) 20,000,000& *98.92% 19,784
= 10,000
Al 9,784
03 A& R0 8,656 8,208
OHRUYE ©F, =a L 25 24
125,000, 000& *0.72% 900
O2cld ¢&d & FHIHHISA
100,000, 000& *0.90% 900
OC&Xl Otof= EEHMel 12,500,000 *1.08% 135
OFR&EAL =HZHIS M 50,000,000 *1.08% 540
OS3LA AIFHE 2 FHEHIS A
65,000,000 *0.90% 585
OFCle AEME FUEY (ML o8 U
H &) 24,000,000 *1.08% 260
Oozlste e B 100,000, 000& *0.90% 900
Oti=ecl &2t =¢ZH|
14,000,000 » 1.08% 152
OSNEEE GEEx 40,000,000 *1.08% 432
OHSAMSHA ZUEH (ST L SACH
) 50,000,000 *1.08% 540
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23 2EHS
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- _ _ pSNE N
SN -3H - S2A(2AH) - NRAY - BE= &HeR '@Eiﬁ R
OSZME DIt ¥ HeEx
20,000,000& * 1.08% 216
ODISSAESHY FHIH(SAME)
80,000, 000& *0.90% 720
Ogdgn JLL=E20M By
50,000,000 *1.08% 540
OSXel=Jt 3LAUFEIMN &Y
50,000,000& *1.08% 540
OGNNSO FLASENAN &Y
60,000, 0002 *0.90% 540
Ogaagk JLdas20M &4
60,000, 000& *0.90% 540
Ogegnidd (S22 SH0lmah ol
) 20,000,000 *1.08% 216
ZoHH Sg2celd X& 34,475 40,360 A5,885
= 20,685
Al 13,790
101 Q1A H| 27,580 32,288 N4,708
= 16,548
Al 11,032
04 12N 22 NEE+ 27,580 32,288 AN4,708
O2stHSE2el XS (LSAX S 5HL) 27,580
= 16,548
Al 11,032
201 2egr2g 2,195 3,072 ABTT
= 1,317
Al 878
01 At 2t 2,19 3,072 NBT7
O=23MWSL2el 2 (LA S 54L) 2,195
= 1,317
Al 878
202 O4Hl 3,500 3,500 0
= 2,100
Al 1,400
01 SLHOII 3,500 3,500 0
O2tHSE 22 FA (UFAX S 5H4) 3,500
= 2,100
Al 1,400
206 X = Hl 1,200 1,500 A 300
= 720
Al 480
01 X =4l 1,200 1,500 A 300
O2stMSE2el =& (USAX S 5H4) 1,200
= 720
Al 480
251 2el 39,113 112,103 AT72,990
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_ _ HE T
N EH - S2A(3H) - MRAE - BES Aol Ol AF o8 BlusZ
< 7,770
Al 31,343
101 @1 24| 2,443 2,443 0
04 JIAMZE XS 2,443 2,443 0
OXE 2 XY 28N el
38, 170 %224 «3004 4 2,443
201 LEre | 21,490 16,000 5,490
= 7,770
Al 13,720
01 Ak 22l 8,220 12,000 13,780
OS5 Ba¥Y M2 4G 5,670
BABAEG A 70,0002 +3% x203] 4,200
BESHY S 4o 70,0002 +324 73 1,470
OSESs MIIAHL42(310H4) 2,550
02 BB=2H| 13,270 4,000 9,270
OSZSSMUANBIAAY BBR22
253,0009! * 128 3,036
OBsti F# ZM ZZeE 1,740
X123 85,0002 122 1,020
Not4E 23 60,0002 122 720
OSZ23M S KX 2Heldl(31H4) 724
OSESSUAEBRIAIAE RXI2H2lbl (31H
%) 7,770
= 7,770
301 Lere A 9,180 9,180 0
12 JEt2 a2 9,180 9,180 0
OS5 3Tl 242 9,180
50l 45,0002 *6% 122 3,240
Zelol 95,0002 *3% 122 3,420
2 AlQl 30,0002 +7% 128 2,520
401 Al HI L LR 6,000 30,000 24,000
01 A&l 6,000 30,000 24,000
OS5 oHLHE: 1,000,000 *67H 4 6,000
ST AlAE 200,000 0 200,000
= 140,000
= 30,000
Al 30,000
401 Al HIL 2RI 200,000 0 200,000
= 140,000
= 30,000
Al 30,000
01 A&l 200,000 0 200,000
OMMA THHSRIAI A R= 200,000
= 140,000
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Outgtsl &It 2 B =& 10,000
401 A2 HI 2 21| 10,000 60,000 A50,000
01 A&t 10,000 59,568 149,568
OUGA ZEHS HA 10,000
402 DIRER 0| & 80,000 0 80,000
| 50,000
Al 30,000
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202 01t 5,500 4,200 1,300
01 2UH 0t bl 5,500 4,200 1,300
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01 A E | 40,000 40,000
OXcla Sd2d A2 d=2 29 40,000
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SN 252D
HE: BRANY T4
Sl BB L OHY (el &
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
301 Yo A3 32,000 0 32,000
12 J|Et2 43 32,000 0 32,000
OS2 010PIF YHDT BALTY
500,000& *43| 2,000
OS2 010PIF 242
102§+ 102 %62 *40, 0002 24,000
ORIl s ZRB
1,000,000& =63l 6,000
307 2I2toI 28,572 0 28,572
| 8,572
& 11,428
Al 8,572
04 QIZ2tHALE = 28,572 0 28,572
OXzlah Sy 2I(HESFHE A 28,572
| 8,572
= 1,428
Al 8,572
401 A& HIS 2 CHYI 60,000 0 60,000
01 Al£H] 59,352 0 59,352
OXlzlah SHL HMYAL(BFA S) LX)
30,000,000& *98.92% 29,676
OS2 172 QUHE S
30,000,000 *98.92% 29,676
03 Al & S CHY| 643 0 648
OXlelah SH2 HMAL(SFA S) &XFY)
30,000,000 *1.08% 324
OS2 172 SHHME &x|
30,000,000 *1.08% 324
ZERIA Ny 13,009,306 6,568,434 6,420,872
z 4,118,840
= 3,128,000
Al 5,762,466
g2 4 1,017,200 1,315,400 A298,200
= 1,000,000
Al 17,200
201 Bt A | 11,200 11,200 0
01 AR 2teld| 11,200 11,200 0
O+ SNRX 222 A
3,500,000 *2& 7,000
OB482os &Y 70,0003 15 *43] 4,200
202 44| 6,000 4,200 1,800
01 =2 A b 6,000 4,200 1,800
Ooi+ZEY FHAL =X 6,000
401 A& HIS 2 CHYI 1,000,000 1,300,000 A300,000
T 1,000,000
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SN 23T
I PPN S
ol D RE N CERCE
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 Al&Hl 993,700 1,291,540 297,840
OLALBBX =4
1,000,000,0002 x99 37% 993,700
= 993,700
03 Al & =2 CHH| 6,300 8,460 A2,160
SRS BBR KA LU
1,000,000,0002 *0.63% 6,300
= 6,300
R2lard 220 A 2,336,806 1,906,082 430,724
2 1,503,000
Al 833,806
307 Q120 60,000 60,000 0
04 QIR AE X 60,000 60,000 0
OXI2Iaa XXISHH HMSH3 60,000
308 XXl EHH SO & 2,276,806 1,846,082 430,724
2 1,503,000
Al 773,806
05 RXICHRIZ 2 S 2,276,806 1,846,082 430,724
OXI2IaH RRHLFESY AZRYS 5,126
OX2IaE REHL 2E AN AL 2,271,680
SESHBBOIS ANBEA 650,000
2 390,000
Al 260,000
Mela 78701 84 66,670
2 40,000
Al 26,670
ElRS02lE = AlY X4 616,670
2 370,000
Al 246,670
Rolara o1 BBAS Ny 60,000
= 36,000
Al 24,000
Relad Bt BBEHAL S4 30,000
= 18,000
Al 12,000
Relara 22013HHI01 2 38,340
z 23,000
Al 15,340
Relad 22 =82 =4 110,000
2 66,000
Al 44,000
Telah fl2YRIX =4 700,000
2 560,000
Al 140,000
SO AKX e 810,000 560,000 250,000
401 AEHIL 2T 810,000 500,000 310,000

_28_




S5
B BY
BB chol: & 2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 ol il b o HRs2
01 A& HI 807,120 496,400 310,720
Ogms X+ EXI0H 400,000,000 *99. 28% 397,120
OBISALT2(RES) 410,000
03 A& 20| 2,880 3,600 AT20
Ogmts X+ EX0H 400,000,000& *0.72% 2,880
o2 B W ALY 5,000 0 5,000
308 XHXIEHHI S OI 5,000 0 5,000
05 AXIEHX 2t R 3 5,000 0 5,000
OSBBLH S ATs HH(OIIRSR
243) 5,000
BEZEY DBEIS TN 8,298,000 0 8,298,000
= 2,550,000
= 1,898,000
Al 3,850,000
401 A& HIZ 2 CHHI 8,298,000 0 8,298,000
= 2,550,000
& 1,898,000
Al 3,850,000
01 A& HI 8,277,255 0 8,277,255
OBEZATY 2BEIR T4
8,298,000, 000& *99.75% 8,277,255
3 2,550,000
= 1,898,000
Al 3,829,255
03 Al 20| 20,745 0 20,745
OBEIZATH 2BEE T4
8,298,000, 000& *0.25% 20,745
HEY AEIR FA 82,300 0 82,300
3 65,840
Al 16,460
301 etz azg 30,000 0 30,000
= 24,000
Al 6,000
10 HALAHIE &2 30,000 0 30,000
O NE sfsZ20d 2¢9 20,000
& 16,000
Al 4,000
O8TY 2t =X 10,000
= 8,000
Al 2,000
308 KX SHHMS0IA 52,300 0 52,300
= 41,840
Al 10,460
05 XX H 2R S 52,300 0 52,300
Od&Z AtA T RE= 52,300
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2N 2322
HE: 2YNY |4
CHel: 2R N (el &2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
Z 41,840
Al 10,460
SMISSAES AEINE A 460,000 0 460,000
[ 230,000
Al 230,000
402 RIZHR20 ™ 460,000 0 460,000
< 230,000
Al 230,000
01 QIZtAEE X 460,000 0 460,000
OEXIt=EAIE WA ALY 360,000
[ 180,000
Al 180,000
OUESAIAE A& ALY 100,000
< 50,000
Al 50,000
HY2A A 184,002 188,378 N4,376
ol 29y 162,802 173,178 A 10,376
ol Ayl 162,802 132,457 30,345
101 o1 244] 162,802 132,457 30,345
03 I HAZZHE 162,802 132,457 30,345
OAB A2 22l(2%) 49,450
=z 902,880 x2% « 128 21,670
NG 21,669, 1202 / 122 x400% 7,224
DELXH| 120,000 x2 % 122 2,880
oAl 130,000 x2%H « 128 3,120
AZt2e4g
5,635 x15A1 2t 1 542 x 128 3,043
22244 45,0802 *1 . 5H x2 & 522 7,033
HESOMI(L,F=4) 902,880 *2% *120% 2,167
I At 45,0802 x2ZH x 152 1,353
] 240
IIELY(B22, 1) 720
OYULEX(SES2E21Y N2 AASE1Y) 44,248
L Je2 902,880 x2% x12& 21,670
A0i2 21,669, 1202 /122 «400% 7,224
WEEXY 120,000 <2 « 128 2,880
o Z Ay 130,000 x2% « 128 3,120
A2te224g
5,635 *15A1 2tx1 . 5H| x2 2 x 128 3,043
HESII(L,F=4) 902,880 *2%H *120% 2,167
oI AtY) 45,0802 x2H x202 1,804
255 660
HELY(HRIH, 23, XtH2) 1,680
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